817 (K8a14)

/'m Linearized knot diagam

( 7 5 1 2 8 3 4 6

Solving Sequence

c1,¢3,C
A knot diagranﬂ 5,8 cs 6 cs 13 Co 2 Cy4 4 cr 7 DT 0

Ideals for irreducible component#ﬂ)f Xpar

I = (—11044u'" — 26768u'® + - - - + 654509b — 534698,
— 1440467 + 51553006 + - - - + 6545090 — 1200167, u'® +u'” + - 4+ 3u + 1)

* 1 irreducible components of dim¢ = 0, with total 18 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (—1.10 X 10*u'” — 2.68 x 10*u'® 4. . - 4+ 6.55 X 1050 — 5.35 X 10°, —1.44 X
1044’7 45.16 X 105u'® + ... +6.55 X 10°a —1.20 X 10%, u'®+u'"4...+3u+1)

(i) Arc colorings
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o= (2ot
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ag =

ag =

0.0220073u'7 — 0.787659u'6 + - - - + 2.49594v + 1.83369
0.0168737u'” + 0.0408978u6 + - .. — 0.737771u + 0.816945

0.00513362u'" — 0.828557u'6 + - - + 3.23371u + 1.01675
0.0168737u'” + 0.0408978u + - .. — 0.737771u + 0.816945

0.00366076u'” — 0.644874u'6 + ... 4 2.32739u + 1.74996)

az =
ag =

aq =

0.0674949u'7 — 0.163591u% + - - - — 1.04891u + 0.732219
(—0.00251181u17 —0.00174176u'6 + - .- — 1.88221u — 0.722479)

ar = 0.176743u'” — 0.811747u'® + - - - 4 3.33200u + 0.00509084
(ii) Obstruction class = —1
2081176 1538700 3609404 2997870
(iii) Cusp Shapes = — =5 ul’ — 654509 e 654500 Y 1 654509




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® +3ut a1
C2,C4 u® a4+ 3u
c3 W 30 1
Cs,C8 u® —ulT 4+ —3u+1
Co u® —ul" 4 Bu 1
cr WS Byt




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3 Y =3y T4 =3y 41
C2,C4,Cs y18_11y17_~_..__3y+1
Cs
Ce, C7 Yy 13y e =3y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
u = —0.912810 4 0.3410701
a= 0.50288 + 1.83925] 1.46999 + 3.117201 3.21326 — 6.662431

b= 1.168300 4 0.7201761

u = —0.912810 — 0.3410701
0.50288 — 1.839251 1.46999 — 3.117201 3.21326 + 6.662431
1.168300 — 0.7201761

0.950168 + 0.1304491
0.05948 — 3.092381 — 0.5205281 0. —13.016841
0.950168 — 0.1304491

0.950168 — 0.1304491
0.05948 + 3.092381 0.5205281 0.+ 13.016841
0.950168 + 0.1304491

—0.167072 4 1.1254001
0.300048 + 0.1216901 3.57267 — 4.951811 3.31278 4 5.616241
—1.190060 + 0.3687331

—0.167072 — 1.1254001
= 0.300048 — 0.1216901 3.57267 4 4.951811 3.31278 — 5.616241
—1.190060 — 0.3687331

—1.190060 + 0.3687331
= —0.385891 + 1.3242707 | —3.57267 + 4.951811 —3.31278 — 5.616241
—0.167072 + 1.1254001

—1.190060 — 0.3687331
—0.385891 — 1.3242701 | —3.57267 —4.951811 —3.31278 4- 5.616241
—0.167072 — 1.1254001

1.342100 + 0.1354961
—0.083889 — 0.2687341 | —2.59619 — 0.059031 —5.04488 — 1.452541
—0.470709 — 0.2430891

1.342100 — 0.1354961
= —0.083889 4 0.2687341 | —2.59619 + 0.059031 —5.04488 4 1.452541
= —0.470709 + 0.2430891

b
U
a
b
U
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b
U
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b
U
a
b
U
a
b
U
a
b
U
a
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Solutions to I} V—1(vol+ v/—1CS) Cusp shape

u= 1.168300 4+ 0.7201761
a= 0.337342 4+ 0.8606651 | —1.46999 — 3.117207 —3.21326 + 6.662431
b= —0.912810 + 0.3410701

u= 1.168300 — 0.7201761
a= 0.337342 — 0.8606651 | —1.46999 + 3.117207 —3.21326 — 6.662431
b= —0.912810 — 0.3410701

u = —1.30098 + 0.593201
a = —0.11190 — 1.477821 10.98591 0. —7.093381
b= —1.30098 — 0.593201

u = —1.30098 — 0.593201
a = —0.11190 + 1.477821 —10.98591 0.+ 7.093381
b= —1.30098 + 0.593201

0.081063 + 0.5321541
a= 0.989810 —0.1214741 — 1.475341 0.+ 4.203171
b= 10.081063 — 0.5321541

u = 0.081063 — 0.5321541
a= 0.989810 + 0.1214741 1.475341 0. —4.203171
b= 0.081063 + 0.5321541

u = —0.470709 + 0.2430891
a= 0.892107 + 0.4224851 2.59619 — 0.059031 5.04488 — 1.452541
b= 1.342100 — 0.1354961

u = —0.470709 — 0.2430891
a= 0.892107 — 0.4224851 2.59619 4 0.059031 5.04488 4 1.452541
b= 1.342100 + 0.1354961




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u® +3u ot ut 1
C2,Cq u +ul" 4+ 4 3u+1
c3 PRI 0 A |
C5, 8 ul® — ' - Bu 1
6 u'® — '+ 4 But 1
¢ ' +ut” - —Bu+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C3 y® =3y =3y +1
€2,C4,C5 y® — 11yt . =3y +1
c8
C6, Cr y 13y T+ =3y 1




